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1 iz Al SR RS MR + (e A BRI HERE X 1.0%)
2 iz ARl SR B MR + (e {ECHI BRI HERE X 0.9%)
3 iz Al SR B MR + (e {EC I BRI HERE < 0.8 %)
4 i Al S B YR + (e A BRI HERE < 0.7 %)
5 e A SR RS R + (e AFC I BRI HERE X 0.6 %)
6 oz ARl SR BS R + (e {EC I BRI HERE X 0.5%)
7 iz Aol S B YRR + (e A BR AL MERE < 0.4%)
8 iz AR Al SR RS YR + (e A BRI ERE < 0.3%)
9 iz ARl SR BS R + (e AECHI BRI HERH X 0.2%)
10 iz Al SR BS K + (e AECHI BRI MRS X 0.1 %)
11 i AR Al SR RS YRR + (e AEC I BRI HERE < 0.0%)
12 iz AEC BRI B + (R ARG BRAERE X —0.1%)
13 iz AR SR RS YEE + (R ARG BRI Y4 X —0.2%)
14 i ARl S RS YEEE + (R AR BRI YEH X —0.3%)
15 iz ARl SR RS YEE + (R AR BRI HEH X —0.4%)
16 iz ARl SR RS EE + (R ARG BRI Y4 X — 0.5%)
17 iz Aol S RS YE R + (R ARG BRI HEH X — 0.6 %)
18 iz ARl SR RS YEEE + (e AR BRI HEH X — 0.7 %)
19 iz AEC T PR B + (e B BRI ERE X —0.8%)
20 iz ARl SR RS EE + (ARG BR AL YE4H X —0.9%)
21 e Aol S RS YEE R + (e ARG PR YERE X — 1.0%)




